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- var[x_,y_]1=5/4%xx(1-x)*y* (1-y);

sin[(2m+1) nxx] [, Cosh[(2m+1) = (Y‘ ;‘)]

(2m+1)3 Cosh[(2m+1) 721]

4
exact[x_, y_] = —-—Sum[ ; {m, O, 100}]7

7‘.3

- Show[{Plot[var[x, 0.25], {x, O, 1}, PlotStyle - Dashed],
Plot[exact[x, 0.25], {x, 0, 1}]}, Frame - True,
PlotLabel -» "y=0.25 (Dashed: Variational, Solid: Exact)", FrameLabel » {"x", "&"}]
Show[{Plot[var([x, 0.5], {x, 0, 1}, PlotStyle - Dashed],
Plot[exact[x, 0.5], {x, O, 1}]}, Frame - True,
FrameStyle - Directive[Thick, Black] PlotLabel -
"y=0.5 (Dashed: Variational, Solid: Exact)", FrameLabel -» {"x", "&"}]

L 'y=0.25 (Dashed: Variational, Solid: Exact)
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